Probability and Statistics *

FINAL REVIEW Name K(Mjr Period Date

LT 1.1 - 1 understand how to list the outcomes in a sample space for an event by making a list, creating a tree
diagram, or by creating a table or grid and calculate simple probabilities using my sample space.

Use either a tree diagram or matrix to display all possible outcomes (the sample space) in the space
provided then find the probabilities.

1. Afamily has three Ehi!dren, ‘ / S} 5 65 7
B—GC BBG
a. Drawa tree diagram to the right and list the / i
o BGA
outcomes. E)) \ G <G \
%l % BGU
. C)LL'H e B :
b. Whatis thegrogéﬁlhty that they are all boys? B G P
Y Coorp) = Vg G (» 8B
c. What is the probability of at: @?‘t one lr) \ e 8 (7 6(7
| = vlrone) = |~ E=CTJ G ~ G
d. What is the probability of two boys ifa row? : O @ }6

2. Acoinis flipped 3 times. @ (3/8> G 6 (7

a. Draw a tree diagram to the right and list the possible outcomes.

4= vl U
7ox 2% 2= outcsrnes H<T<$ ‘;:l;Tl:l
. ]
b. Find the probability if getting exactly 2 heads in ANY order. 59 T < ¥ <kl (f T{ (7’
. _ ;o It
¢. Find the probability of getting@t /eaMer‘dﬁ, > 7 \_;' _l,_ HT
A AN . -
3 oe m{m ! TT"’F
T
3. You are playing a game that involves flipping a coin and rolling a 6-sided die. /
— -
a. Make a table below to list the possible outcomes. @ ] t
- = A
- - TN TN ﬁ:? 2 34S
%H, 2 12, 14, s, e, TETZT3(T4TS 7€ mn = 5 ezl
b. What is the probability that you will roll an even number vb s «H~ Hl HZ It 3t
A
T
and get tails on the coin? ’\7((’ —uen CU\CH\CU(S\> -1 T T T2 T3HT
: )2_ o T<‘1 : /
I x3 _3 \ <
Z b 2 v

4. You roll 2 6-sided dice.
a. Create a matrix (table) below to list the possible —

b
sums of the two dice. 3
* s
b 3
L
b. What is the probability that you will roll a sum of 8 or

)3, = %,

c.  What is the probability that you will roll an even sum?
N—

Yy _y 1
20”1 |




Learning Target 1.2: | understand when and how to use the Fundamental Counting Principle, Combinations, or
Permutations to find the number of outcomes for an event. - - :

Evaluate each COMBINATION. If you used a calculator, be sure to record what you plugged into the calculator.

1. How many ways can a student select 5 questions from an exam containing nine questions?
"y

2. How many ways can a committee of four people be selected from a group of ten people?

10Cl’4f

3. How many different ways can you select 2 meats, 1 veggie, and 1 cheese for a sandwich from a menu that offers 5

meats, 6 veggies, and 3 cheeses?
— — 5 2 -
4. There are 7 women and 5 men in a department. ——

a. How many ways can a committee of 4 be selected if it must contain 2 men and 2 women?

—

—

2 5 2 |
Evaluate each PERMUTAHON. If you use a c;?culator, be ?ure to record what you plugged into the calculator.
5. How many differe @- ermutations can be formed from the letters in the word decagon?

7Py — 40

6. An inspector must select three tests to perform in a certain order on a manufactured part. He has a choice of seven

tests. How many ways can he perform three different tests? P

7. How many ways can 6 people stand in line?

=720

Decide which method (Permutation, Combination, Fundamental Counting Principle) to use to find the number of
possible outcomes.

8. How many ways can are there to select three bracelets from a box containing ten bracelets if order does NOT matter?

C3 = 120

9 In a board of directors composed of eight people, how many ways can a CEO, a vice president, and a treasurer be

selected? P _ )
3= 326

10. A license plate has 2 letters and 4 digits. If the first letter must be a “W” and no digits can be repeated, how many
. 5 ) , )
license plates can be produced? l v 2 6‘ [U ﬂ ? ———Z - I 5 l l O"fo

2w
11. How many ways can 3 cards be selected from a standard deck of 52 cards if the order does not matter?

Sz2 3 ZZ’. LoO
12. How many ways can seven different types of soaps be displayed on a shelf in a grocery store?

- S, 040

13. How many license plates can be mage using 2 Ietfcers and 4 digits if no digit may be used twice?
| 2626 L A& T B 4ol,040

14. How many 4-digit PINs can be generated if the first number may not be a 1 or a 0 and no digit may be used
twice? *

< 9 £ L 4,032
15. How many 4-digit PINS can be generated if any digit may be used and repetitions are aliowed?

oviex 12 = (G000

e



Learning Target 1.3 - | understand how to calculate the probablhty of compound events that are e:ther dependent on
each other or independent of each other. .

1. A national survey found that 48% of all teenagers have an iPhone. You decide to survey 3 teenagers in your school at
random. Draw a tree diagram to illustrate the possible outcomes.

. P(all 3 own an iPhone) = "fo MBS x: 4Q = A1psq2 P"‘ O Lf%
b. P(none own an iPhone) = 2}__}‘5}: « SZ < . |H00S

c. P(atqeast ode;;ns}aniPhone)= P(none) = Moeoy I”‘ P[‘)UVH?) = ,"' JH0Les = gsq 52

Learning Target 2.1: | understan d how to calculate the pmbab;i;ty Qf compound events that are eather .
dependent on each other or andependent of each ether , - . -

1. Ana has an 80% free-throw average. What is the probability she will make the next two free-throws she takes?
L

2. In a bag there are 15 golf balls. Suppose 5 are white, 7 are orange, and 3 are yellow. If you select 3 golf balls, replacing

each one before selecting the next iv{at is thehat you will select 3 orange in a row?

—_— t =
5 '—3 s

3. If a student guessed on five questions on a muftiptechGice exam, with each question having options A,B, and C, what

is the probability that he or she would get them all right? { ] ! o .,W.,.!s

U QIR S Ko e - i/
5 = = > M 5
4, In your locker you haechamca! pencils. Three of the pencils don’t have any more lead. If you bring two pencils
to class each day, what is the obatﬁhty that you pick two of the pencils that don’t have any lead?
5 = f)“? s or 0.0667T--
5. There is a 75% chance for ria?n over the next three days. Find the probability that it does not rain at all during the next
three days. What is the probability that is will rain at least one of the days?

ieammg Ta;ggt 2.2 - ] understand when two or more events are mutuzally exclusive or not and how to use |
a Venn Diagram or an mathematmai eqzxatton o caicuiate prababx%&;es for those everzts. : -

( WL
1. Give an example of 2 outcomes from a situation that are mutually exclusive. UVC&\U A V\MC or @u.
o\l an odd or €ven

2. Give an example of 2 outcomes from a situation that are not mutually exclusive. e-’-c .
Draw & Red or Queen 04 Wr”
3. Determine whether the following events are mutually exclusive. Dl 4 V\UU’Y) CU/) L-f or
a. Roll a die: Get an even number, and get a number less than 3. q/

Not (Aot at Z; %om*ﬁ

b. Roll a die: Get a prime number (2,73, 5), and get an odd number
Lot et Edusive cdd ~

c. Il a die: Get a number greater than 3, and get anu er less than 3.

O OUALEY®S 10 (ol sy C (Sné()rrﬁ

d. Select a student in your class: The student as blond hair, and the student has blue eyes.

Nt mutually 2xClusiye Jomt plonde Can N )l{pggg)

4. P(A) = 0.56, P(B) = 0.23 and P(A and B) = 0.12. Find P(A or B).

P(Auh)= PO +P(8) - PIANA) = 61 73 - 127 47

pond prirm<



5. The probability
the probability of

nt B@m two events are mutually exclusive, what is

277
Q:HC

f dvent A ls@The probabnhtyv e
O p(ang) =O

6. The probability of event Ais 0.47. The probabmty of event B is 0.31. If the two events are mutually exclusive, what is
the probability of A and B? What is the probab!hty of Aor B? écd )
G

Iy

p(AorB)z T H3L= T8

7. Given a random sample of 36 California teenagers, 16 of the California teenagers owned a surfboard, 14 owned a
skateboard, and 10 owned both. If a California teenage is selected at random, find the probability that he or she owns a

surfboard or a skateboard.
P(swy S ) =

b+ - 20
S TN A AL L)
A group of 60 students were asked if they played football (F) on _
basketball (B) The diagram below displays the results. &0, SSS o
3%

LO-10-5-7=3%

8. Using the Venn diagram, if a student is chosen at random find the following probability:

is
P{Football) /600

p(basketball) 12f(p0

(
(
P(Football and Basketball) '/(OC’
P(Football or Basketball) 33/(,0

P(Neither Football nor basketball)agl"

moo T

9. A single card is drawn from a deck. Find the probability of selecting the following:

a. 4 or a diamond ?(4’ oK O) P(Lf)+ P(O) “”?(“fﬂ ) y
b. club or a diamond P(C@&/O) l} ‘% ZWO S‘lk 57/ g} = gz/ '/5

c. jack or a black card

P (ot o Backy — 4 26

wL < ‘32




Learning Target 2.3: | understand how to create and use a table to calculate probabilities and/or conditional

probabilities.

1. Here are the counts (in thousands) of earned degrees in the United States in a recent year, classified by
level and by the sex of the degree recipient.

Bachelor’s Master’s Professional Doctorate

Female 616 194 30 16 g§ (9
Male 529 171 @ :26 ‘770

a. Ifyouchoose a degree rezlplgt at random 2!’(9( Zche probabj .u;y;Za( the person you cPIo‘Zz{ is a female? -
P(Femalo) 2650/ 1, 77 {@ S265 102

b. What is the prob Kt}/\{\hat a rando & n degre Léc:pneq{s,a -male? _
dle (JL
¢. Whatisthe probabnhty thatar domlxch é@n is a femal asa master 3 degree?
d. Whatisthe probablllty that a randomly chosen person ha professnonal egree and isa male .
P(Mand k) = W30~ (37 2827 .,LEE

e. P(bachelorsdegreelma}}{e)— 1626 1620

o malingy 25 = 0687

f.  P(female|bachelgr’'s degree) =

%W ‘%ﬁ“« 0-54

Learnmg Target 3.1-1 understand how the Law of Large Numbers relates to expected value for games and other

apphcatlons s

1. A scratch Iottery t!cket has the followmg probablhtnes of winning:
Amount 0 5 20 [ —_ OS - qg

Won

Probability 2012 .04 | .01

(a) Whatis the mlss%g probabxhty for winning nothing? 95

(b) What is the expected winning value for this game? ‘ ) -
by = 0099+ 5(. ot) + zu(0l)= 0-4#0
(c) If the tickets cost $1 each, how much are you winning or losing on average per play?

0.4 = = ~0.L0 liss of #0.60

2. A container contain@l bills ‘$2 bills, fhrea $5 bills,@ $10 bill, and one $100 bill.
a. Create a'probability nodel.

0+S+3 4 1+
Teets | 1215 1106
iQ ) {
PD?{ & 0 %/b %U ZAEY,

b. Find the expected value of the game.

)+ 2T ) # o)1 20)
C,-T25




3. Aspinner has 8 wedges: 1green, 1yellow, 2 white, 2 blue, and 2 red. Landing on green wins $20, yellow wins $15,
blue wins $10, white wins $5 and red wins nothing.

 Ja0 1511015 O
WM L e | Ys 78 [%s

b. What are the expected winnings for the player?
(\/4( - o 1S

¢. The playeris charged $10 to play.
How much will the player win or lose in the long run?

(025-10 = =375 |Lst¥ b

onNn averaﬂe_

4. Megan wants to play a carnival game that involves dropping a coin in a slot at the top of a board where pegs bounce
the coin around so that it randomly drops into one of 7 spaces below, much like PLINKO on “The Price is Right”. She
quickly determines that the expected value for this game is $8.76. The games costs $10 to play. Explain to Megan
whether or not she should play this game. Use the Law of Large Numbers to determine if the game is fair or not.

- 10 = —\24 On oq,»c\a, (, i)
- 10 o, CJM WM’”

Learning Target 3.2: 1 understand how to use known probabilities to construct a probability model, carry 0 [ uﬂ
probability simulations, and make conclusions about long-run behavior. ‘

a. Create a probability model

Q
SN i;"%omzdex the following probability model used to describe the weather in Minnesota. J‘Mﬁ‘
§. - V& Television ! Sunny Cloudy Rainy Iy )
nh s Probability | 0.65 0.15 0.20
2RN

lip

Su\dFom
Sunny Y

ssignment of digits for this model. Al ways start at 0 or 00, 5me1 00O +olH

@cum +v 99 Clowdy 6§+°74

Use the line below to simulate the mode of(}0 ﬁerent days of the weather. Be sureto clearly mark your

a/m 61487 wo13 09317

UMM&/UV% 3%§ M podtxn 71A3% A7049 39950

2. Consider the following assngnment of digits for a simulation regarding the type of juice purchased at a local shop.

s C | R

digits 00, 01, 02, ..., 27 = Orange Juice P
1) \ \ | it

Give a valid\a

oy
Qr
et

b)
results

digits 28, 51, 52, ..., 60= Apple Juice

PR PR S—

o

dl(S 61, 71,72, .., 99 = Cranberry Juice

in repeated simulations, what would you expect the proportion of Cranberry Juice purchases to approach?

Y\ oty N A% :

A9-6l 1) =




3. A recent survey found that 73% of all adults prefer Caribou Coffee compared to Starbucks Coffee.

(a) Assign digits to represent a randomly choosing adult who prefer Caribou Coffee to Starbucks Coffee.

00 10 73 Lug Cabou  73+vac Luee
%kmlgwwf

(b) Simulate asking 5 people whether they prefer Caribou CGffee over Starbucks Coffee. Run this simulation 5 times and

record your results.
WW ) Sfardoccck

Line 120 39421 6 535_01@;5@311135?43742 11937‘ @ @ @
Line 121 77 14863 61683 47052 62224 51025

tatee e |
Jndiv & sumudafeons —

93'; = 8‘)(0 C&thw (‘o&,%( -gg/r;iaw

o

ir ent 'mpie Random Sample, Strataf' ed _y matzc,etc ) and ycan determine’wh;c method is appropnate m a L

99 24

the MCA test. 290
Kﬂm; Mt 0\ /> a) Assign Digits 1 ‘ga

\\‘m——am—m—

\{Car da, Penny UZ.
Griessr Tracev 09
Herndersan, Matt DY

Jobnson. Ernie 0§ . L(,X 3 \61/;/(‘
line104 52711 388‘49@.{_)1 27 \;g@ﬁsiﬁ 48767 52573

Tuerbers, K&tf.‘()q Line 105 195592 84007 699?1 91481 83791 17287 59235
Vess, Brandon \0

b) Starting at line 104, select the four math teachers.

2. The principal at AndHS would like to see what the schools favorite lunch is, so he decides to take a sample size of
450 students and have them vote on thelrfévorlte Junch. What data method was being used?

Ml Kandowm Srmple

3. At the bottom of all Cub Foods receipts is a website is listed. This website will lead the customers to an online
survey, asking questions about thelr shopping trip. What samplmg method was being used?

g U i PN

4. Your teacher wants to know If playing rock mu durmg a test will help students do better on the test. In one class
" she plays rock music and in the other class she doesn’t play any music. At the end she will compare her results. What

data method is being used? Ramm/) CM/W ¥ / W @weﬂ +

All Students apart of a fall sport at Andover were given a survey on how their season went, and if there were ahy
isfUes that occurred during the season. What data method was being used?




Learning Target 4: 1 calculate the margin of error and construct a 95% Confidence Interval

company’s human resources department investigates the application materials submitted by 84
pplicaMts for,an entry level position over a six month period. One finding is that 15 of the applicants
falsiffgd info q;[mn in the application materials. Assume that the 84 applicants are a random sample
fro largég&ol of similar applicants. ‘

/\X\)a. Find the Margin of Error M O W\ - Y? i

b, Const ct a 95% Confidence Interval

A
N
NG
§§ 07 o . 2% f\: s = - 17

A random sample of 212 adoptive parents finds that 85 of them fence” for their child’s
ender Use this sample data to construct a 95% confldence mterval estlmate for the proportion of

a. Find the Margin of Error i 0 0’7 —_

[/
N \@Z 21
b. Construct a 95% Confidence Interval ’ + 07 ,
QMMqS[‘, Lm’- 33 to ___..—_.-"‘(’7

utvue /

3. A major metro Mr?gv:s aper sele a sim om sam leof 1 6 eadars from theirlist of,

) P bap )%1 ) glgga qjﬁ/ f/%wm,‘l’wi ‘
100,000 subscribers. They asked whether the paper should increase its coverage of Idgal news. Fortyg 4
percent (40%) of the sample wanted more local news. What is the 95% confidence interval for the ¢

proportion of readers who would like more coverage of local news? W

35 t0 .45 B €7,

e L oo
4. 3910 41 WD Uo + 0. 028

‘ Leammg Target 43: | understand the effects of 1urkmg vanabies on data and can de5|gn effectwe expenments that .
reduce the effects of potential !urkmg vanables - - - - ..

A group of 2000 people signed up for a study that measured the effects of a new weight lose medication. The study
noted that the medication might work differently in men than in women. The study planned to use an established

weight loss medication, the new medication, and a fake treatment that contained no medication.

| Loademt
What is the name for the fake treatment? Plﬂebo &W&L’% %

1

2. Identify the Response and Explanatory variables in this experlment J«Q ——>7 2 —

3. What would have to happen for this experl ent to be caI ed ”d uble bIW

4. What typem&‘j}ﬁ ﬁ shouw/‘ﬁeﬂ; m%mifock or Randomized Contparative? %am your answer(J6
Blocl. on W Nl ek Yol

Sy (HWW,&WWY‘ e Sy o
et it b e e




The ple chart below shows the breakdown of blood types in the US.
There are approximately 307,006,550 people in the US. B!OO dty?'qeé §i1 the us.

1. How many people have blood type A+? ‘ AB+_\ 5o 1% O+

a%bf K 307 00@530
low 43t

2. What is the angle measurement for B+?

QY ofFF0° = 334°%legees x om

3. Ms. Olson is going back to school to get her Master’s Degree in Education. This will raise her salary from $38,000 to
546,000. What is Ms. Glson's percent increase from Bachefor' s Degrﬁe to Master’s Degree?

00 oroe® Nfion
(;60058 80,05%% . Q( /OWM@

38000 OF

4. The following bar graph gives the percent of owners of three brands of trucks who are satisfied with their truck.

Peivent zatiahad

FOAQ CHEWRUGLET TO7OTA

From this graph we may legitimately conclude that:

{(2) Owners of other brands of trucks are less satisfied than the owners of these three brands.F(Lé&Q
Chevrolet owners are substantially more satisfied than Ford or Toyota owners.
There is very little difference in the satisfaction of owners for the three brands.

{(d) Chevrolet has triple the value of owners that are satisfied.

(e) A pie chart would have been a better choice for displaying this data.



Learning Target 5.2: 1 understand how to choose, construct and interpret an appropnate data dlsplay for numerlcal
data; how to compare two displays; and tell when dlsplays are misleading or distorted.

1.State the shape, estimate the median, and describe whether the mean will be higher, lower, or about the same as the

median for the following historgrams.

Shape: MW

Which is greater the mean or the median? Why?

»ﬂ\%w %ﬂm%ﬂ

g

225
013335889
ofizge7e
02244478

G

3. Describe the@% the stem and leaf plot helo W, W‘ﬁu

mh U N O

Q,C/Y\i:w

Texting During Class

=]
=]

=]

o
)

Numberof Students
(=]

[ ©w 4 w

[+

e

[y
o

b }
0-29 30-38 40-48 5
umber of Texts

173
N M
%Wu

Y

wed

o b
e

The stem and leaf plot below is very crowded. Split the stems and then describe the SOCS.

Stemn | Leaves
4. 6 4789
7 022222333444550660667
7 8 00011222‘
%d(&ﬁg‘)&hﬂ“’ U&«b“a-?’o
.y [{ (+"
2 o l%iﬂ
5. Asupervxsorw:she heck s he

5%%

4.

17§89

5212222334 \
556 bl T %

00011 & 22

°°°<,\\\S® <

WN%T ach day. Her findings are below:

138 107 136 128 148 129 115 123 133 ) 8
123 103 121 128 122 144 126 135 107 125 S8 117

_ 153 141 126 139 134 115 93 127 118 158 143 108
a. On a separate sheet of graph paper, create a frequency distribution and then make a histogram. Be

sure to include labels and titles.

Describe the graph with SOCS.

/ﬂu  AUStr but ey’

/.

o




Test Scores {as %) for 4™ Period

z —

38 72 88 9 102

5. What was the high score on the test? ( O 9\
6. What percent of the class scored above a 727 )/
7. What was the median score on the test?

8. What percent of the class scored between 88 & 967

AS%0 | |

. Do you think that this test was too hard for the students? Explain. ~ , 4 ‘
U, 50% d) e Sfudendy 2C 0 ”ﬁﬂ
10. Wha%e w.? 70-%0/M

11. Would the mean be greater or less than the median? C\J/) M 7‘3
Magnt would be Desohan S median

12. A company wanted to determine health care costs for their employees. A sample 0f 25 employees were
interviewed and their medical expenses for the previous year were determined. The five number summary for

the medical expenses were {$1000, $2300, $4600, $7800, $15,000}. Which of the following describes th .
shape of the distribution medical expenses? W/W

. Roughl tri ()., / AK
e e G M 0 ) M
| Skewed to the left ) \ ~ \ i
™ 00U Hebd  Tg0p., | S 000
e. can’t be determined (o0 ) ’ (T -7\

(o]

. vurytﬁyf w/q(&&’/‘

Clal

13. Using the five number summary from question 12, SHOW the Calculation for findihg OUTLIERS.

> | N0 O LLeres
k’Qi “Q(\ IS Present”

N IES [(6SO
00 -2200)(1:5) = (605
¢ cISU4 Q5 = 1800+ 250 vl

~ —S4s0
(0 —%7250 C




Target 5.3: | understand how to use mean, median, or mode asa measure of center, calculate it and describe how
outliers and changes in the data will affect each measure ¢

1. Becky needs to earn an average of 85% on her Stats tests in order to maintain her current GPA. If she has gotten
the following scores so far, what does she need to get on her next test to maintain at least an 85% average?

85,78, 92, 84, 93 e | 1024 ng—C{\:j Y~
s ¢5 ST At =

) U3+y=510 { X-

2. After 5 tests, Susan’s test average ifory class is 88%. Her teacher has misplaced one of her tests. She
knows four of her scores are 76%, 92%, 85%, and 89%. What is Susan’s missing test score?

To+a2 reS+Yrx =93 A=98

: Target 6: I understand how 10 describe the relat tmnsF(_(p between two variables bv constructing a nd/or mterpretmg a scatterplot
orin terms of a correiatlon coeff' cnent (“ ") and descrnbe the effects of outhers on the correlatlon

',I understand how to use and mterpret a i.east—Squares—Regressmn Equat:on for the Ime of best ﬁt to make prednctlons thhm my
data and 1 can describe the effects of outliers on the LSRL equation : - '

For the remaining questions, label each as either positively associated, negatively associated, or as having littie or no

. association.
1. As miles driven increases, the amount of gas in your tank decreases. ﬂg,ﬁojﬁ,&ré QMW

2. As hours spent studying increases, so does your expected test grade.

OSUTIE A8SsC .

3. Years of Education and Annual Income

Wl 0SS

4. Age and height .
ity @
5. Eye Color and 1Q O

6. Amount of exercise and weight

7. Suppose the following information was collected, where X = diameter of tree trunk in inches, and Y = tree
height in feet. X 4 2 8 10

\jsqmuaog

Y 18 22

If the LSRL equation is y = —3.6 + 3.1x, what is your estimate of the average height of all trees having a trunk
r of 7 inches?

(b)19.1 (c) 20.1 (d) 21.1 (e) 22.1

V) = -2 v S.z(fQ

12




During a lorig storm, Dr. Doolittle measured the rain that fell at various time intervals. The data he obtained is given below.

Time Rainfall

{hours) | (inches)
1. Make a scatter plot for the data {Sketch it below) 025 06
0.5 1.1

2. Which variable is the explanatory variable and which is the response variable? 1 19
l 65 ; 1.25 2.45

3. Calculate r and the LSRL (line of best fit) using your calculator. Tc 30

a9 '{&\mQWSa—/-%xz

4. Describe the relationship between the two varlables and put the relationship into
context. W \A a S‘\'YOW%\""] \/f L[%Uf ré (éULléYlS)/) r)
LWL iyt

5. Identify the slope of the equation. Interpret the slope in context. 2
5:-—

For Luchadddional oy 4y v ‘/“/)f‘
Wi

l‘l‘l
A4

o

5]
T B N N

__1,: |

and mantFra ﬁz( ps= .

[ InCrases Y [ §6bipches SRS o

7. Using the LSRL: If the rainfall continued for a total of 4 hours, how much rain could H‘ﬁ'b~/7

Dr. Doolittle expect? (jj\:— O‘ la%g ..i._ (t g@@_{i) e

\;\ :;%q as (nchés -
7. Using the LSRL: How much rain would fall after 24 hours? 1sthis 3 valid pred:ctlon? m
0=0.05St (L ¥66(24) - (T4 25nches

8. Using the LSRL: How many hours would it take to predict a rainfall of3 5 mches?

| Lle
0 bt plas.”
5520 lxa -1 yiosi_% Heart Rtes QK%LM

Before and After a Brisk Walk
9. Using the Least-Squares-Regression equation ..

from the graph to the right predict the "after" heart rate for 03 140 c /
a particular students, the one whose "before" heart rate oy z: q ooz
was 80 beats per minute. 2 Y
£ 8 7 ]
& 60 - -
a, 80 beats per minute £ 4 /
100 beats per minute § 20 : .
&~ 70 beats per minute = 5 Pl . I ,
d. 120 beats per minute 0 20 40 £0 80 10D

Heart Rate Before {hpm}
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Learning Target 7.1: | understand when data fits a normal dxstnbutlon and how to dlsplay, mterpret and compare

data ona normal curve.

1. Nate got a 75% on his last History test and was in the 66" percentlle for his class. Explam the difference between

percent and percentile. Na_‘{ QOJWC% TS p,Q/},CCA wam W
v oy win O SCive ads peer ‘H’un%/

2. Lindsey gota 79% on her last majh test. The mean score of the class was 67% and the standard devigliqn wjs 1SA>

What is her z-score? [QSS

ij_;x.,u_ 19- 067 _ 387
Use the 68-95-99.7 Rule to answer each of the following questions.

3. State the 68-95-99.7 Rule below. g(% : ]9‘5"(‘0"/‘ {\d.QJLi O(: M@/% ‘]‘1’\_0 I/W

4. Sketch a normal curve with 3 deviations marked each direction, for data with a rrtfn of 8 and a standard deviation

of 1.5. X1 > 3 Stundtaid U:'WW\‘HW IW

Use the following information to answer questions 3-6. The number of cells in a sample of kidney tissue is normally
distributed with a mean of 4200 and a standard deviation of 300 to answer the following questions:

5. Sketch the normal curve for this data below.

Rl o0 B0 200 HS0
6. What proportion of samples would have 4800 cells or more? ‘
7.  What proportion of samples would have less than 32 0 cells? _ O m

o xzam){p 0629 ) - Zopr Y- 5/20-':&2 = <433

8. What'proportion- of samples would ha from 3700 to 4400 cells? 0/ gc)[/

(otttalcdP (500 o0, s 30) 5 @WW\)

9. Sam took a history test where the mean was 74, standard deviation was5,-and-she scored an 87. In Spanish she
took a test where the mean was 78, standard deviation was 6.5, and she scored an 82. Which test did she do better

2 S <7Ll/ é} %WMA 6%/ .S
%,%zﬂl W Z - %y =0
(<

A\
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10. For a normal distribution with mean 15 and standard deviation 3, approximately what percent of the observations
will be between 6 and 247

L a 1a 1S 182 2d

11. Scores on the American College Testing (ACT) college entrance exam follow the normal distribution with mean 18

and standard deviation 6.
F- Y1

a What is the probability that a person will score higher than 24? ) (ﬁ

(24 o0, 1§ 0)= 05

What is the probability that a person W|II get a 30 or better?
p y . . w

Normel cdF o, o0, 1%, b) 7 1

What percent ont takers wm score between 12 and 30?

3 = i
¢ %lq rcent of test ta TS w1llcs)co_r£ghlgh€r)than 18? z- /& ’ Zao
e. @be a studzchéescore to be in the top 5%’ \ 2, - l? lg ’ @/“ Lo
@/\f\u/r‘/e/l/rﬂ/ 515 l‘?( @) o - SO% ‘
K= a7 f ] AL v

12. The weight of 18 month olds is normally distributed with-amean of 221b§ and a standard deviation of 0.7 lbs. Mrs.
Dorsing’s son weighed 23.5 Ibs at his 18 month check up. What percentile is he in for his weight?

F— 23522 - 21y

AR

13. Joe Mauer’s average home run distance last year was 397 feet with a standard deviation of 10 feet. -

a. What percent of his home runs were longer than 420 feet?

%:%}g—gq@ 2.3 P(x>420)= 0.0l
{

b. What percent of Mauer’s home runs were less than 380 feet?

2=2%0=57 =177 p(xs3%0)= 0.045
c. What percent of Mauer’s home runs were between 380 and 420 feet?

normalcclé / (350,420, 347 1)
W;e run distance Ts-at_the 80" percentlle? .__. O q/_*_,g/

Wy -0« 10
v QM W ° Y= oS Y feed
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